7.

10.

11.

12.

A score card of ten students is given below.

(Students P Q R S T U v w X Y ]
MEILS GsfiEinze 2| 8 |10 ] 9| 11|37 |15]6
out of 15

Who ranks 1%, 2", and 3™ in the class respectively?
a) X, S, andV b) V.S, and X c YW, and Q d) S,V and U

. Which of the following is the correct arrangement of P, Q and R in ascending

order?

Seven hundred Seven hundred

twenty-three thirty-two

a) P<Q<R b) R<Q<P c) R<P<Q

. Which of the following is 2" to the right of R?

P Q R S T
a) P b) Q c) S d T

Compare the given numbers and select the appropriate symbol (<, > or =)
accordingly.

- >

QFive hundred and
fifty-eight
c) = d) None of these

Which of the following numbers is greater than and less than ?

a) Four hundred and eighty-two b) Six hundred and sixty-six

c) Four hundred and eighty-five d) Six hundred and sixty-seven

Which of the following numbers is less than the number represented on the
given abacus?

a) Five hundred and seventy-six
b) Five hundred and sixty-seven

c) Five hundred and seventy-eight

d) Five hundred and seventy-nine
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21. Who am 1?

® | am a 3-digit even number.

® My tens place digit is the ones place digit of the given addition.

® My hundreds place digit is one more than my tens place digit.

® My ones place digit is one more than the tens place digit of the given addition.
a) 834 T O

31

b) 438 e
c) 734
d) 437

22. Which house does not give the same sum as [ 7 tens + 5 ones ]?

23.

2 4 2
5 0 3

w b~
>~ N
o~ O

5 3
+ 0 + 4

a) P b) Q c R d) S

Determine the values of P and Q in the given regrouping.

5 hundreds + 3 tens + 2 tens = @ hundreds + @ tens

P Q P Q
a) 5 b) 5 6
c) d 5 3

24. Which of the following combinations of two sides gives a sum equal to 55?

a) PQand QR s 30 R

b) PQ and SR

c) PQandPS 25 20

d) SRand QR P o
25

25. Which of the following is the same as [ 275 more than 225 ]?

a) OnlyPandQ

(P C250 plus 250. ) (O. C350 and 150 together. )
b) Only P QandR
c) F.Q,Rand3 (R (Total of 470 and 30. ) (s CSum of 212 and 288. )

d) OnlyQandR

X X X
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C HAPTEIR 3

( Test Paper a

1. Which of the following statements describe the given subtraction?
a) 94 less than 25 b) 94 is taken away from 25
c) 94 is decreased by 25 d) 94 is removed from 25 —

N O

o O

. Which of the following is an odd difference?

i o © o
- © © o

|
om\0—|
~N N O

. Which of the following is the difference between the smallest and
largest two-digit numbers formed using both the given digits?

a) 45 b) 54 c) 44 d) 55

. Which of the following differences is the smallest?

. Select the correct match.

a) ( 194 -25 = One hundred and seventy-nine
b) ( 275 -53 = One hundred and twenty-two
c) (292 -41 = Two hundred and fifty-one

d) ¢ 189 -17 = Two hundred and seventy-two

. Arrange P, Q and R in ascending order.

44 |ess 36 less
than 103 q than 100
() ()
a) Q<R<P b) R<P<Q ¢ P<R<Q d P<Q<R
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12.

13.

14.

1S.

16.

17.

18.

19.

20.

21.

There are 5 flowers with 5 petals in each. How many petals are there in total?

a) 25 b) 10 c) 20 d) 30

Rashmi buys 10 boxes of laddoos for Diwali. If each box has

15 laddoos, how many laddoos did she buy? %
a) 510 b) 500 c) 150 d) 100

Akhilesh packed 4 stacks of shirts in his suitcase. If there are 10
shirts in each stack, how many shirts did he pack?

a) 44 b) 14
c) 40 d) 04

If there are 3 keys in a keychain, how many total keys are in 12
such keychains?

a) 123 b) 36
c) 24 d) 15

One belt has 5 holes. How many holes are in there 7 such

a) 40 b) 12

c) 25 d) 35

Radha distributes 12 packets of pencils in her class. If each packet had 4 pen-
cils, how many pencils did Radha distribute?

a) 40 b) 42 c) 45 d) 48

A society has four buildings with 25 flats in each. How many flats are there in
the society?

a) 100 b) 80 c) 120 d) 90

If one monkey eats 12 bananas, then how many bananas will 12
monkeys eat in total?

a) 24 b) 100 c) 144 d) 124

There are 25 children. Each child has 4 candies. How many
candies will the children have in total?

a) 75 b) 50 c) 60 d) 100

There are 20 houses in a locality with 5 residents in each house. How many
residents are there in the locality?

a) 105 b) 120 c) 100 d) 150
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10.

11.

12.

13.

14.

15.

Which of the following rods is longer than rod P and shorter than rod R?

a) P R Q P S
b) Q ( (I | £
53 cm 47 cm £ ©
c R 3 3
<
d) S

If 2 jugs, 1 glass and 1 bottle of water fill the given bucket completely, then
find the amount of water in the bottle.

a) 748

—
v 7 -0 W @
g 50 - " " "
d)‘?ﬁ 57¢ 57¢ 148 ?

What is the total weight of 6 such apples?
a) 900 g
b) 600 g
c) 300g
d) 800 g

If the capacity of a bucket is 200 ml, then how many such buckets
of water are required to fill the given water tank completely?

a) 4 b) 10
c) 5 d) 6

Which of the following ropes is longest and shortest respectively?

P Q R S
K @?3 T2 Q(]
7‘?%% g 7> = ’,]!i% %:g
. <4 ’,ﬁ’ ! Lot %
%ﬂﬁ ““’9;,,, 2V o
44 cm 39 cm 52 cm 50 cm
a) RandQ b) QandR c) RandS d) SandR
Arrange P, Q and R in descending order according to their weights.
12
kg
9/ 3
6
a) P<Q<R b) P<R<Q c0 Q<R<P d R<Q«<P
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C HAPTEIR 8

Lines and Shapes

C Test Paper 9

. How many less triangles than rectangles are there in the given figure?

a) 5

b) 6

c) 4

d) 1

. How many circles and squares in total are there in the given figure?

0 9 wAY
< o

b) 10 Y >

9 8 YN

& 11 OP©

. How many 3-D shapes are there in the given collection?

a) 10 A. D'

b) 11
) 12
;B miolm

. Which of the following 2-D shapes can be drawn using the shaded face of
the given solid?

a) Rectangle b) Square
c) Circle d) Triangle

. How many squares are there in the given figure?

a) Ten

b) Eleven
c) Twelve
d) Thirteen

. How many corners are there in the given shape?
a) 6

b) 12
c) 10
d) 11
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4. If @ stands for 5 likes, then

) G EE
d@@@@

+DDD

. |If ED ED stands for 1 bucket, then

cDDDD

6. Given table shows the variety of fruits in a garden.

stands for 15 likes.

D EEECEEEE
) EEEEE

stands for 3 buckets.

o DDDDD
*DDDODDD

‘ Types of trees

Apple

Guava

Mango ’

‘ Number of trees 5

6

|

Which of the following pictograph represents the given information?

Types of trees

Number of trees

Types of trees

Number of trees

Apple (L1 1.1 Apple AL L
a) | Guava ,,,,,, b) | Guava ,,,,,,
Mango ,,,, Mango ,,,,

1 ,stands for 2 tree

1 ,stands for 1 tree

c) Both (a) and (b) d) Neither (a) nor (b)

7. Given table shows the number of pizzas sold in three days.

Days ‘ Day 1 Day 2 Day 3 ’
of pizzas sold 6 3 9 ’

Which of the following pictographs represents the given information?

Qays Number of pizzas sold Days Number of pizzas sold
Day 1 Day 1
3) | Day2 b) | Day2
Day 3 Day 3
1 @) stands for 3 pizzas 1 @) stands for 2 pizzas

c) Both (a) and (b) d) Neither (a) nor (b)
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